Schraubensortiment
*00029999300

Art.Nr. + Bezeichnung

0025060126 SK.BUNDSCHRAUBE M 6X12 SW=8 ISA30

0025060206 SK.BUNDSCHRAUBE M 6X20 SW=8 ISA30
0025060306 SK.BUNDSCHRAUBE M 6x30 ISA30
0025050166 SK.BUNDSCHRAUBE M 5X16 ISA30

0035080156S ISA.BUNDSCHRAUBE M 8X15 1SA45
0035080206S ISA.BUNDSCHRAUBE M 8X20 1SA45
0025080256 SK.BUNDSCHRAUBE M 8X25 SW=10 ISA40

0025080306 SK.BUNDSCHRAUBE M 8X30 SW=10 ISA40

0025080356 SK.BUNDSCHRAUBE M 8X35 SW=10 ISA40

0025080406 SK.BUNDSCHRAUBE M 8X40 SW=10 ISA40

0025080506 SK.BUNDSCHRAUBE M 8X50 SW=10 ISA40

0019080206S SENKKOPFSCHR. M 8X20 ISR45

0019080266S SENKKOPFSCHR. M 8X26 ISR45
79003003000 SONDERSCHRAUBE M 8x18 ISA45

59001092050 SONDERSCHRAUBE M 6X12,5 SW=8

59009062013 SONDERSCHRAUBE M 6X13 SW=8 10.9

0738050250 LINSENSCHR. ISK. ISO7380 M 5X25

0032100406S ISA-BUNDSCHRAUBE M10X40 ISA45

59001037000 ANSCHLAGSCHRAUBE M 8x26 SW=10

54310086200 STOVER-FLANSCHMUTTER M8 10.9

0985060003 SS.MUTTER DIN0985-M 6

0934060003 SK.MUTTER DIN 934 M6

06923080003 SK-MUTTER DIN EN 1661 M8 SW=13

0934080003 SK.MUTTER DIN 934 M8

0025060256 SK. BUNDSCHRAUBE M 6X25 SW=8 ISA30

0015060303 SK. BUNDSCHRAUBE M 6X30 SW=8 ISA30

0025060456 SK. BUNDSCHRAUBE M 6X45 SW=8 ISA30

0024060106 SK.BUNDSCHRAUBE M 6X10 SW=8 ISA30

0024060206 SK.BUNDSCHRAUBE M 6X20 SW=8 ISA30

0094032253 SPLINT DIN0094-3,2X25 STAHL

50308052000 BUNDBUCHSE 6X11X16X5 MM

77308013010 BUNDBUCHSE F. HECKTEIL

54803092050 BLINDSTECK-MUTTER M 5 WN 22A 03

54808020000 BUNDBUCHSE 7X10X18X6,5 MM 03

77305069000 BUCHSE 7.5X12X28X8.6 MM

0017060206 EJOT PT SCHRAUBE K60X20AL SW6

0017060255 EJOT PT SCHRAUBE K60X25-Z SW6

0125100003 UNTERLEGSCHEIBE DIN0125 A 10.5

50233041000 NORDLOCKSCHEIBEN M 6 DAC

50232050001 STAHLSCHEIBE 6,4X17X3

0137060003 FEDERSCHEIBE DIN137 B6

0125080003 UNTERLEGSCHEIBE DIN0125 A 8.4

79107040010 SCHRAUBE F. SITZBANKBEF. KTM M6x109

10001020000 SCHLAUCH-KLEMME NORMA 18-29

42013037400 SCHLAUCH-KLEMME NORMA 14/24

Stk

NN OO

N AN NDABRBRDN NNDN OO N BN NNDNPDSOODNDN

N

ABADNDNDDNODN

10
10

A BRANN D

—_




